Name: _____________________ Date: ___________ Section:______
More Electronic Configuration (HW)

For each of the following elements listed below, complete the following: 

A. the complete electron configuration

B. the Noble gas short cut

C. the orbital diagram for the highest sublevel

D. state how many unpaired electrons

E. is the element paramagnetic or diamagnetic

F. draw the Lewis dot structure

G. Write out the possible ion electronic configuration and explain your reasoning

Selenium (34)

A.

B.

C.

D.

E.

F.

G.
Sodium Na (11)

A.

B.

C.

D.

E.

F.

G.

Phosphorus P (15)

A.

B.

C.

D.

E.

F.

G.

Chlorine Cl (17)

A.

B.

C.

D.

E.

F.

G. 

Vanadium V (23)

A.

B.

C.

D.

E.

D.

E.

F.

G.

Germanium Ge (32)

A.

B.

C.

D.

E.

F.

G.

Iron Fe (26)

A.

B.

C.

D.

E.

F.

G. 

Tungsten  W (74)

A.

B.

C.

D.

E.

F.

G. 
II. Vocabulary Associated with Electronic Configuration

State the Aufbau Principle: 
If you are using the periodic table please state the order of increasing energy in the energy subshells from 1s to 7s. (Hint “read” the periodic table)

True or False : A 3p orbital has slightly more energy than 3s orbital.  

Which orbital would you fill first 4s or 3d? Why? 

Attempt to graph the orbital shells. On the y axis is energy and the X is the number of electrons. Graph the orbitals-1s through 4p in order of energy. 

Remember that simple geometric spheres are filled first or said another way the forms with the easiest shapes are lowest in energy


Copper is considered an exception to the Aufbau Principle. 


Draw the expected electronic configuration using the periodic table

BUT- trying to make the shells stable reorganize the electrons and show how Cu might be an exception. Rewrite the electronic configuration.
III. Hund’s Rule

State Hund’s Rule:
An orbital diagram shows the electron in an arrow notation of the final subshell or the entire electronic configuration.  To write orbital diagrams you need to remember the total number of possible orbitals for each type of orbital.
S orbital holds ____ electrons

Show the arrows that would be found in a full s orbital.   ____ 

P orbital hold  ____ electrons

Show the arrows that would be found in a full p orbitals : ___ ___ ___

d orbital holds ____ electrons

Show the arrows that would be found in full d orbitals: ___ ___ ___ ___ ___

Remember Hund’s Rule for the following-

Show arrows that would be found in half full d orbitals: __ __ __ __ __

Show arrows that would be found in half full p orbitals: ___ ___ ___

Show the electronic configuration of iron

Write out orbital diagram for each subshell for iron: 

1s ___  2s ___ 2p ___ ___ ___ 3s ___
 3p ___ ___ ___3d ____ ____ ____ ___ ____ 4s ____

Read page 235-236

What is paramagnetic? 

Explain diamagnetic.

Write out the electronic configuration of Mercury. Based on the diagram is mercury diagmagnetic? Why or why not?

Using the orbital diagram for iron from above, decide whether or not iron is diamagnetic or paramagnetic.

Write the orbital diagrams for each orbital of Chromium. 

Can chromium be a strong magnet? Why? 
